


 - 99445 11344 |  - 98942 41422 |  - 75503 52916 |  -  98431 10566 |  - 97555 520032

Test - 18| Answer Key  |Tamil

Answer Key - Tamil18

  
     

     
   
     3
- 

     
   
   
 ‘’ 

  3
     

  


- 
 


     
   


- 
   



 
    
   


-     
 


      
   
    
  
    
   
 
 4
-      



- F   t     
(J) 
  


- J = F × t ……………………….(1)
- 

F  =   p/t  (  p  t 



-  p = F × t……………………………………..(2)
-     

J =   p
-    




-  


     



   



  2
-    

   
  


-   
    

   


      
   
 3
-  

  


-    
(trajectory) 


  


 

 
 

 


   
   


        3
    

  

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      

 
 


      


    
    6
- 

  


cv



cv






-      


- 
 

sv

   



 

- 
cv


-
cv


 
sv


 


-    


- v

   cv




sv



cv


 
sv

 

     


 

-    

   v

  cv



sv


      
    




-   


 

      
  
  

  2
-    

  
 
   
  


    2
-    



-     
   
  

 


-      


    2
- 

    


    
   


        
    

     2
 

- 
    


- 

   


 

- 

  


   4
    




  
  

  
 
 (Echogram)    


    


    


     
   
 

     
   


    
  


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Test - 18| Answer Key  |Tamil

   



 
 

 
   


     


    


    


  a)     
 

b)     
  

a)     
  3

- 
    
  



- 

    


- 
     



b)     
  

   3
-      


- 


- N/m 

[ML-2].
- 




-  
    


  
- 


  
- 





-    
   


- 
     


- 

 



       
  
   
 16


-   
(flat)  (shril)



- 

   

-     

    
     


- 


   

-     
    


 

     
   4
-  

 
    


-     
   


-      


-     
 


- 
  




-    
 (Solar  Wind)  
  



-    
   

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Test - 18| Answer Key  |Tamil

   2
-   

 


    

 

      
 
 2
- 

   

 


- 
   
    
    


  2
-   


     


-    
   

    


-    
   


  2
   

  


 


  


 


 


 
    
    


       
  
 3
-   


  


-     


-  
 °   
   


-   
 
    


-    
   
   


 3
-   



- 


-  
  


-  
 


  a) LED   
 

b) LED   

a) LED  3
- LED

  LCD(Liquid  Crystal
Display) 

- LED   
 

-  
(pixel) 

-  
   



- 



LED   

- 

- 

-    


- 

- 

b) LED   

LED  3
- LED



-   

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Test - 18| Answer Key  |Tamil

LED  

- LED  
    
  


-       


- 

-   


- 

-     


-    
LED


      
 
 3
- MRI  (Magnetic  Resonance  Imaging) 



-     
  



   

-     
     
   
  


-    
  


-    
   
 
  


 3
 

   


  


 



 


    
   

   6
-   

   


- 

 

 



- 
   

 


- 


  

- SI 
 


  

- 
 

(kWh)
-       



- 1 kWh = 1000 1000 x (60 x 60)
 xJ

      
   
  1
- 

   
 (dc)  
(ac).

  2
-    

  
 

   


-   




-    



-    


- 


-    

  



  3
-     

  




 - 99445 11344 |  - 98942 41422 |  - 75503 52916 |  -  98431 10566 |  - 97555 52003 7

Test - 18| Answer Key  |Tamil

-    
  


-  
   


-     
   


- 


-  

 

-    

   


      

  3


- 
   



-    
     
   
 


-     
   

    


  1
-    

  
  
  



-    

 
  


 2
- 

 
   


-  
    



-   x-ray     

   

 



  

- 



-    





     



   4

- 



C 


 

-     

  

   2V  

1000V  



-   

   





-     





-    

   



- p– 



 ‘z’

   

    



 2
 

 

    



    

  


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Test - 18| Answer Key  |Tamil

     
  
   
 6
   

 
   
   



 
    


    
   
  
    (Air
Conditioner  point), 



  
   
 


    
  


  

       
   
  
    


  4
-      




- 
 F

d 


  = F x d
- 

    
 SI
(Nm) 

-  (Couple): 

‘
’  ‘’ 


- 
   
   


-      



  4
- 






 

- (M)
(F)×

 (S)
M = F × S

- SICGS
    

   
   

  


  4
  

-    


   


   



  

-  
  

   
   

     


-   



  

      




    
    
   
   6
-       

    


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- 


- AB
m

1
  m

1
   

u
1
u

1
 

  
 A B     
  (u

1
>u

2
)‘t ’  

AB


  2
-    

 v
1
  v

2
  



- 

- BA F
A
=m

2
(v

2
u

2
)/t

ABF
B
  =

m
1
(v

1 
– u

1
)/t

- A
B-


  4
- F

B
 = – F

A

- m
1
(v

1
-u

1
)/t = – m

2
 (v

2 
- u

2
)/t

- m
1
v

1
+ m

2
v

2
 = m

1
u

1
 + m

2
u

2

- 




- 

    


     
 
  8
-    

 

  

- 


- 


  

-  




- 

- 

  

- 
     
  
    
   
  




- 

- 

  

- 
  
   





- (Guitar)


  1
- 

(Helical) 


    

- (Space)

xyz


-      
   


-     
   

  
   


-     


i)   3
- 

 

- 
(Linear  motion  -  Rectilinear  motion) 


-     





- 

- 

ii)  

- 
   
   
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Test - 18| Answer Key  |Tamil




- y, zx -


- y  z 




-    (Carrom  board)  


- 


iii) 

- 
 

- 
   
 x,y
z



- 

- 

- 

 a)    
 

b)     
 

a)    
 

  2
-  




   


 2
-   

  
   
   


  
   


-     



 2
- 

   



-    




-    
   
    



- 
    
   



-  


-     
 (convenction current) 


-     


b)     
 

 6
- 

  
  
 
   


  

-     
  


-      

    
   



- 


 

 

 
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Test - 18| Answer Key  |Tamil

      
  
   
    
   3

- 

 

   



-  ‘’ 
   



  



- 

(Scattered)  
  3
- 

   



  

-  



 

 

    

-  





   

-  

    



-     

 (Size)



-     



  3
- 

    



  

-     


 4

1
'S'


    

-     




-    

   




 

     
 
-     

   
   



-      



     



 

- 





-   

   


- 




  
 3
- 



- 

    


     



     
   
  8
- 

   


-     

  

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-      
    


- 
 


1
p

f


- SI ‘’‘
D  ‘ 

-     (m)
(D) 
 1D=1m-1.

- 


-     
   


    4

  

  

  

  

  

       
 
     1
 

- 
    


- 

   


  1
     

  
     


  2
-   



-    


- 

-     
    
    


-    


 

- 

  


  8


-    



-  
  



  
 (Echogram)    


 

-    


      
   


 

-    


-     
   
 

-     
   


 

-    
  



  

-  


-   


-     


 

-    


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    


-  ‘’  


- 
   


     
    6
  

-    

    
    


- 


-   
   








2d vt
v d

t 2
  

- t=0.1



- 

    

    



-      

 

 

  6
  

   



   



 



-     



-  

   


 

 

 



     


  


 

    
 
 2
-  

 (Hysteresis) 


  2
- 

   
   


- 
 
 

        8
     



-    

    
 
   


     

-     


   


   

- 


  




 

 

-    
 
   
  


-    





 

   

-     

  
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  


     
  
 4
- 



   


-    


    



-  
 

  
  



-   
  


 

- 

   
    

    


-   



- 


- 

   


-    

   


   
 

   
  

  

-  
 



GFCI  2
-    

 



- GFCI


 2
-   

  


-      



-    


-    
  


ARC   2
- 

- 
 

- 


-    



-   
   


- 
  
   


  2
-  

   


 
    


   a)   
   
  

b)     
   

a)   6
- 

  
 


 

-   
 


 

-     
(Thermo couple)


-  


- 

-    
(i)
   (ii)

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  

    
    
  
   


 
    


     

     


b)   6
- 


‘’

- 






- 

 


-   




- 

   


    
 


12)   
   

  


  6
- V


C

1
,C

2
 C

3


C
3


 Q

  


-   (Q
C

3


C
2


- 

- C
2
 Q

C
1




-    C
1
 

+Q
C

1
 Q




-     
  Q   

   

V

1
V

2
V

3


-    
   


- V=V
1
+V

1
 + V

3

- Q = CV 

-  
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- 

[ ]

- 

...........(2)

- 
  C

S
  




- C
S


 
   


   6
- V



- C
1
C

2 
C

3


[ ].

-  
   
  
   



-   
   
  


- 
Q

1
Q

2
Q

3


    

Q  


- Q = Q
1
 + Q

2
 + Q

3 
.............(3)

- Q = CV 

- Q = C
1
V + C

2
V + C

3
V ............(4)

-    
 [
]     Q  =  C

P
V



- 

- C
P
V = C

1
V + C

2
V + C

3
V

- C
P
 = C

1
 + C

2
 + C

3

-    
C

P
 




    
  

 


  

  
   
  
-    


    
 1

  1
- 


    
   


- 
    


- 


  3
- 



- 


-   



-   

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-    
    
 

   3
- 



-     




- 

-    


-  (10-15m)


-    


-    
 ‘’ 


  3
- 





-     


- 


  4
 

    


     


  


 
   


      
    

   3
- 

 


-     
   



- 


    3
-   ‘’

 



- 



    



 

-      

    



 

   

    

   



-  

  



- x



- 
 


-
xy

f
x y




- x 
y 


   3
-    

  



-    
   

    



- 

    



-    

   



 

-    

  


- 

   



-     



- d 



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- dD 
    


-
dD

f
d D




    3
-  

 



-   



-     

   

   

‘  ’



-  

   



-  “  “
(Biofocal  lenses) 

-     



    





   3
-     

 



-   

 

-    

   



   



  (cylindrical  lenses) 



     
  
      
    
 

 3
-    





- 

  

    
 


- 
   



    
 6
-   


    



- 




- 
  

    


- 

  
   


   

 

- 
   

 
    

   
   




  3
- 

 30,000°C  





-      

    
    



   
 3
-  


    

   


  
     
   
   
 
  1
-    

 
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


 3
-    

  
   


- 
B
B

H 


  
B

H 
è  



B = B
H 

tan 

 4
-  

   

 


- 


-    
   


-   

    
   


- 
 


- 
   
  



- 
    
   
   


-    
  
 


  
   2
-    



- (Sprit level), 


-  
  


- 

    



- 0o  -  0o 


 2
- 

  




-  
  
  


-    
 (B) 3

-    (B
H
) 

  
  

    
 


B = B
H 

tan
- R   N     




NI
B o

2R
  

-   



 


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Test - 18| Answer Key  |Tamil

    
 
 2
-      

    


   
 



-  




- 
  






-    


-    

    
    



- 

- 

- 

  2
-   





 

- 


-    



 

-    


- 

    


 

-     

 
     



 

-     
     

   


- 

   
   


   3
-     



  

-    
   
 
    


  
-     

   

 
   


  

-     
   
    


-  (Road-roller)

    
   


  

   8
-    



- 


  

- 


- 

   

-     


- 


 

- 
    


  

-   


-   
  


-     


    

- 


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-      



  

-    



- 



-   

  



  

-     





-    



     
   
   

  1
-   

   

   



   



 1
-  

    

   







 

- 



- 



  

 

   



 



   
 W = Q

1
 – Q

2

 =  Q
1
¸,

,   = W / Q
1
 = > (Q

1
 – Q

2
) / Q

1

=> 1 – (Q
2
 / Q

1
)

 1
-   

   
  

   


-    


-     




  1
 

 

-      


     
   
T

H 


      
    


- 
 


- 
  



      
(Q

L
) 

  (T
L
)



-   

   
     
 5

-  (cylic  process)

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Test - 18| Answer Key  |Tamil

-      


- 
 




-     
  
    


-    
W   Q

H
 

Q
L



-      


Q
H
 = W + Q

L

W = Q
H
 - Q

L

- 


H L

H H

Q QW

Q Q




-  Q
H
,  Q

L
   W   



-  


- Q
L
  <  Q

H 
  



-     
  



-   
 



-     





   1

-     (Cyclic-process)







-  

 



 5

   

- 





-      



   

- 

  



- 



   

-     

  

  



-    



   



-     



- 



 

  



      

    

  

-    



 3
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- 





-    

  



-     




   



   5

-    



    

    



- 



-   

   










2d vt
v d

t 2
  

- t=0.1



-  

    

    



-      

 

 

  3

-  

   



   



- 



-     



- 

   



- 

 

   

 3

 

- 





    

 (d) 



  

    



    



   

   

 ‘t’ 



  

    



   1

-     

    

2d t



  (V)

= 

8) P - N    



P - N   1

-  p  -     n  -  

p - n  



  1

-    

 

   


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  4

-  



  

- 

 p  -  n      



- AC 

    



-   



- 

- p  -  n   



   2

- AC   

   

 



- p  -  n 

 

(R
L
)

-    

    



- 

  

   



PN   

- 



-    

  



- 



-     



   

  4

- 

   

 

-  

    

  

   



-   

  





 3

-     pn  



p

   n  





- pn 



- pn 

n 

p

- 

- 

- 

 



     

   






